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Q.1
Function of capacitor in single phase induction motor is
a) Suppressing of spark across centrifugal switch
b) Splitting of phase
¢) Improve Efficiency
d) Speed control
Ans X A a
« B.b
X C.c
2 D.d

Question ID : 1703222361
Status : Answered
Chosen Option: B




Q.2

Symbol for resistivity of conductor is

a) p
b) Q
c)
d B

Ans A a
& B.b
K Cc
X< D.d
Question ID : 1703222383
Status : Answered
Chosen Option : A
Q.3
Ratio of maximum energy stored to the energy dissipated is called
a) Q factor
b) Power factor
¢) Form factor
d) Peak factor
Ans A a
& B.b
K Cc
X D.d

Question ID : 1703222394
Status : Answered
Chosen Option : A




Q.4

Select the correct option from following with reference to resistivity of the material in
ascending order.

a) Copper, Silver, Tungsten, Aluminum
b) Silver, Copper, Aluminum, Tungsten
¢) Aluminum, Copper, Tungsten, Silver
d) Copper, Aluminum, Silver, Tungsten

Ans X A a
« B.b
X Cc
& D.d
Question ID : 1703222389
Status : Answered
Chosen Option: B
Q.5
‘Which of following is not the cable specification.
a) Voltage rating
b) Conductor material
¢) Number of strands
d) Dielectric loss
Ans X A a
X B.b
X Cc
o D.d

Question ID : 1703222392
Status : Answered
Chosen Option: C




Q.6

By laminating core of transformer, we reduce
a) Leakage Reactance

b) Eddy Current losses

c) Copper losses

d) Hysteresis losses

Ans X A a
« B.b
X C.c
X D.d
Question ID : 1703222345
Status : Answered
Chosen Option: B
Q.7
g1 wfoRlesdr & 419 3§ 4-fg AR ol pgd §
a) aRAM
b) dFR
¢) aAfad
d) dieedifa
Ans # Aa
& B.b
X Cc
& D.d

Question ID : 1703222384

Not Attempted and
Marked For Review

Chosen Option : --

Status:




Q.8

qftade H dls v g 3, Fafafad g sa e -

a) YR URIBN
b) ™
¢) dlgeN™
d) dHgN

Ans X A a

X B.b

X C.c

« D.d

Question ID : 1703222344
Status : Answered
Chosen Option: D

Q.9

The salient pole type rotors as compared to the cylindrical pole type rotors are

a) Smaller in diameter and larger in Axial length
b) Larger in diameter and smaller in Axial length
¢) Larger in diameter and Axial length

d) Smaller in diameter and Axial length

Ans X A a
& B.b
X Cc
2 D.d

Question ID : 1703222363
Status : Answered
Chosen Option: B




Q.10

diewl fogol &l Udb dda- Bed ¢ oid (id el d & iR-uR dleed

a) EILI\quﬁRTH

b) eFTE® dieedl
¢) BUTHD dleedl
d) R dieedn

Ans # Aa
& B.b
X C.c
& D.d
Question ID : 1703222386
Status : Answered
Chosen Option : A
Q.11
il o 4e & foru die ar o1 Ay SR ®ie 8
a) 1 mm?
b) 1.5 mm?
¢) 2 mm?
d) 2.54 mm?
Ans A a
X B.b
X C.c
& D.d

Question ID : 1703222397
Status : Answered
Chosen Option: B




Q.12

In power transistors, the heat sink is connected to the

a) Base

b) Emitter

¢) Collector

d) Base and Emitter

Ans X A a
& B.b
o C.C
X< D.d
Question ID : 1703222370
. Not Attempted and
Shgs Marked For Review
Chosen Option : --
Q.13

ua fdd @l gafdes dod qudlit e dad safdee e @vdr §1 §8 &1 BRI ...,

a) 9RTY H we R S § 2gAd Tl @
b) wviferd dieear pH ©

¢) ded ol Y -Hud gl gl

d) Feadurtag gl

Ans X A a
K B.b
o C.C
X D.d

Question ID : 1703222348
Status : Answered
Chosen Option: C




Q.14 In the following circuit, what is the approximate maximum peak inverse voltage that the

diode D1 will see?

Vin= 2llc &
240Vpp ac Zj ‘i < g, Vout
60Hz - e

[

a) 120V
b) 60V
c) 40V
d) 30V
Ans X A a
X B.b
X C.c
 D.d
Question ID : 1703222367
Status : Answered
Chosen Option: B
Q.15
Metal used for plate type earthing
a) Copper
b) Silver
¢) Aluminum
d) Gold
Ans @ Aa
X B.b
K Cc
& D.d

Question ID : 1703222378
Status : Answered
Chosen Option : A




Q.16

The frequency of voltage generated by an alternator having 4 poles and rotating at 1800

rp.mis...
a) 60Hz
b) 120Hz
¢) 7200 Hz
d) 450Hz

Ans o Ala

X B.b

X C.c

& D.d

Question ID : 1703222362
Status : Answered
Chosen Option : A

Q.17
A coil consists of 1000 turns of copper wire having a cross sectional area of 1.6 mm?.
Length of the coil is 1000 m and the resistivity of copper is 0.02 pQ-m. Find the
resistance of the coil.
a) 20mQ
b) 20Q
c) 20KQ
d) 20MQ
Ans X A a
« B.b
X C.c
/2 D.d

Question ID : 1703222393

Not Attempted and
Marked For Review

Chosen Option : -

Status :




Q.18

Ans

KA a
X B.b
K Cc
o D.d

The current gain of common emitter amplifier configuration is

a) Less than one
b) Typically zero
c) Typically one
d) Greater than one

Question ID : 1703222368
Status : Answered
Chosen Option : A

Q.19

Ans

Conductor combining function of both protective conductor and neural conductor

o A a
X B.b
X Cc
& D.d

a) Protective Earth and Neural conductor
b) Passive Earth and Neural conductor
¢) Pulse Earth and Neural conductor

d) Positive Earth and Neural conductor

Question ID : 1703222385
Status : Answered
Chosen Option : A




Q.20

UF 638 O Saferd Si-17 H 300 9 g, Wil Arad H 4Rd §.00.0% 5 dicedl g df S gRT
ST AT o Sl

a) 604l

b) 1500 diee
c) 360 dlee
d) 250 diee

Ans X A a
X B.b
X C.c
& D.d
Question ID : 1703222341
Status : Answered
Chosen Option: B
Q.21
fi=roT gRYy AR & A s e o1 3 §
a) o @t mit fufoal o s fufa o Jod s sar gl
b) e et dsclt Bl faguiffd fbar sirar @ ad ud geare
c) oid Rd Frselt &l Sollfid fdan o § a9 9ud gadr gl
d) o fxet sl ol fagsifaa fasar s g a9 dud &4 glar g
Ans X A a
X B.b
« C.c
X D.d

Question ID : 1703222365
Status : Answered
Chosen Option : A




Q.22

Lumen is the unit of

a) Light wavelength
b) Luminous intensity
¢) Frequency

d) Luminous flux

Ans X A a
& B.b
X Cc
w D.d
Question ID : 1703222400
Status : Answered
Chosen Option: D
Q.23
The distance between two adjacent teeth of hacksaw blades are as
a) Specitications of the blade
b) Pitch of the blade
¢) Size of the blade
d) Designation of the blade
Ans X A a
« B.b
X C.c
/2 D.d

Question ID : 1703222347
Status : Answered
Chosen Option: B




Q.24

RIS T R YRTgRI & 58P gRI $H IR UHd & :-

a) UeaH Bl Hierg @ wiel e T

b) TeTH B Hiels B HH FH W

¢) IS dR Algd dsierdl Bl psa

d) B URYY T Ry SiARIe 1 PH B R

Ans X A a
« B.b
X C.c
&< D.d
Question ID : 1703222346
Status : Answered
Chosen Option: B
Q.25
Tolerance of resistor with a gold band
a) 5%
b) +20%
c) +10%
d) +15%
Ans o Aa
X B.b
X Cc
& D.d

Question ID : 1703222374
Status : Answered
Chosen Option: C




Q.26

1 TR0 HieR & T & AR Uhd BRI ST g o

a) HIeX &l IRUI HIeR |1 Iadl § 3R IR 39 ¥ S HIA1 ©
b) Gl R0 Hied UR Feldll W@ WR alS gl el
) T W W AT = YR & BRI TP SIS GHET &

d)y g UG
Ans X A a
& B.b
« C.C
& D.d
Question ID : 1703222357
Status : Answered
Chosen Option: C
Q.27
Tfeeied st 7 =i &1 Ho e Fafitad
a) dicear dAd
b) 3= dieedl YRd ST
¢) 3imafct atecarn ¥ serguf @) ged e
d) IWRiad # A PIS T8t
Ans X A a
& B.b
X C.c
& D.d

Question ID : 1703222398
Status : Answered
Chosen Option: B




Q.28

YA S W9 & [6T 5d ST Ui&ior Iues BRI &
a) SHIS A
b) dieedT AMH
¢) FR&aramA
d) HRTHEMYA

Ans X A a
& B.b
o C.c
& D.d
Question ID : 1703222382
Status : Answered
Chosen Option: D
Q.29
Earthing for house wiring uses
a) Coal and Salt
b) Coal and sugar
¢) Clay and Salt
d) Clay and Sugar
Ans o Ala
X B.b
X Cc
& D.d

Question ID : 1703222377
Status : Answered
Chosen Option : A




Q.30

Non-metallic conduits are made from

a) PVC

b) Fibre

¢) Botha)andb)

d) None of the above

Ans X A a
& B.b
o« C.c
X D.d
Question ID : 1703222396
Status : Answered
Chosen Option : A
Q.31
The purpose of a capacitor in a fan is to:
a) Increase the speed
b) protect the fan in case of fault occurs
¢) produce the phase shift
d) control the speed of the fan
Ans X A a
& B.b
o C.c
/2 D.d

Question ID : 1703222360
Status : Answered
Chosen Option: C




Q.32

Ans

o A a
K B.b
K Cc
& D.d

Variable resistor in a circuit is known as

a) Potentiometer
b) Chip resistor
¢) Wire wound resistor

d) Metal film resistor

Question ID : 1703222373
Status : Answered
Chosen Option : A

Q.33

Ans

Ability of measuring instrument to reproduce same output signal when same input

signal is applied again and again under fixed environmental conditions

a) Ruggedness
b) Reliability
¢) Repeatability

d) Responsibility

X A a
X B.b
" C.c
& D.d

Question ID : 1703222387
Status : Answered
Chosen Option: C




Q.34

Ans

K Aa
X B.b
« C.C
& D.d

d) amyfdl anga sk w8t @l dem A Reifa

Question ID : 1703222356
Status : Answered
Chosen Option: C

Q.35

Ans

Full load line current of a 3-phase, 3 HP (Horsepower), 415 V, 50 Hz squirrel cage
induction motor at 0.8 lagging pf is approximately:

a) 62A
b) 3.80 A
c) 45A
d) 330A

KA a
& B.b
X Cc
2 D.d

Question ID : 1703222354
Status : Answered
Chosen Option: C




Q.36

When a 1MQ resistor is connected in parallel to 1K< resistor, resultant value will be

a) Nearto 1IKQ
b) Near to IMQ
¢) Nearto 10°Q
d) Near to 0Q

Ans @ A a
K B.b
K Cc
& D.d
Question ID : 1703222372
Status : Answered
Chosen Option : A
Q.37
Fusing Factor is...
a) Minimum Fusing current /Rated current
b) Maximum Fusing current /Rated current
¢) Rated current / Minimum Fusing current
d) Rated current / Maximum Fusing current
Ans o Ala
X B.b
&K Cc
X D.d

Question ID : 1703222352
Status : Answered
Chosen Option: B




Q.38

H3dl b3 Bl IS &

a) =R g

b) wafa sfiaE

¢) @Hla)Udb)

d) SR T AP T8l

Ans o Ala

X B.b

X Cc

& D.d

Question ID : 1703222399
Status : Answered
Chosen Option : A

Q.39

Select the false statement about the delta connection system from following.

a) Delta connection is a 3 wire system

b) Delta connection has a neutral line

¢) Delta connection is used for short distance
d) Delta connection is used for distribution

Ans X A a
& B.b
X Cc
X D.d

Question ID : 1703222391
Status : Answered
Chosen Option: B




Q.40

Form factor of which of the following circuit is Zero?

a) Capacitance
b) Inductance
¢) Resistance

d) Both a) and b)

Ans X A a
X B.b
X Cc
w D.d
Question ID : 1703222390
Status : Answered
Chosen Option: D
Q.41
wafl ufay 8, KW 3 KVA sidrd ufaffera s g
a) S[PR HeP
b) AP
c) BHollUch
d) HRYTH
Ans X A a
X B.b
o« C.c
X D.d

Question ID : 1703222395
Status : Answered
Chosen Option: D




Q.42

When 3 phase system is balanced, the neutral wire carries
a) No current.

b) Half of phase current.

¢) 1.732 times of phase current.

d) One third of the phase current.

Ans o Ala
X B.b
X C.c
X D.d
Question ID : 1703222349
Status : Answered
Chosen Option : A
Q.43
T Tftex 19 &1 siffiemar v uaded afivoy § Sad & BRI fopar
ST g
a) alfd e uferen vd ga dleear afsr
b) 3= A% Ul Ud Ua I S dicedl afsy
¢) H¥H ¥ Y Jo Raw ufdar ud o aleedr afer
d) T Frowr ufderar ud g dieear afsy
Ans X A a
X B.b
o C.C
X D.d

Question ID : 1703222369

Not Attempted and
Marked For Review

Chosen Option : --

Status:




Q.44

The condition of electrolyte in a battery is measured in terms of:
a) voltage output

b) specific gravity

¢) acid contents

d) current value

Ans X A a
' B.b
X C.c
X D.d
Question ID : 1703222350
Status : Answered
Chosen Option: B
Q.45
Which type of Circuit Breaker is used for 415 V, LT System?
a) Air Circuit Breakers.
b) Minimum Oil Circuit Breakers.
¢) SF6 Circuit Breakers.
d) Vacuum Circuit Breakers.
Ans A a
X B.b
X C.c
X D.d

Question ID : 1703222364
Status : Answered
Chosen Option : A




Q.46

The no load voltage of a generator is 242 V and rated load voltage is 220 V. The voltage
regulation of generator is

a) 4.5%

b) 11.3%

c) 2.8%

d) 10%

Ans X A a
X B.b
X C.c
& D.d

Question ID : 1703222342
Status : Answered
Chosen Option: D

Q.47
Calculate the resistance of bulb if it draws 0.1A from 9V battery
a) 9000
b) 90Q
c) 9Q
d) 90009
Ans X A a
& B.b
&K Cc
< D.d

Question ID : 1703222375
Status : Answered
Chosen Option : A




Q.48

In order to increase the ampere- hour rating of a battery, the cells are connected in:
a) Star

b) Delta

c) Series

d) Parallel

Ans X A a
X B.b
X C.c
« D.d
Question ID : 1703222351
Status : Answered
Chosen Option: D
Q.49
HORd Hiex & gl 91 ........... EIEIRE SRR
a) AU
b) SmfR
¢) Ui dePig &
d) AHYT R q
Ans X A a
& B.b
« C.c
& D.d

Question ID : 1703222359
Status : Answered
Chosen Option: C




Q.50

Relationship between peak value and RMS value of sinusoidal current

a) Im=L/1.414
b) I~ I, *1.414
&)t Ll 2

d) Lo Loms /2

Total number of complete rotation made by rotor voltage per minute is

a) 150
b) 100
) 250
d) 2.5

Ans @ A a
< B.b
X C.c
/< D.d

Ans A a
& B.b
K Cc
X< D.d
Question ID : 1703222380
. Not Attempted and
Shgs Marked For Review
Chosen Option : --
Q.51

A three phase 415 V induction machine operating on 50 Hz supply has a slip of 5 %.

Question ID : 1703222355

Not Attempted and
Marked For Review

Chosen Option : --

Status:




Q52 e afeces 7 910 9 oneRea o 1 o Y
DYl vy
—: > > >
= 33a 230 230
15v T A ) ]
a) 3A
b) 1.3636 A
c) 5SA
d 10A
Ans X A a
X B.b
' C.c
& D.d
Question ID : 1703222388
Status : Answered
Chosen Option: C
Q.53
When primary of a transformer is connected to Direct Current (DC)
a) Primary draws small current
b) Primary leakage reactance is increased
¢) Core losses are increased
d) Primary may draw heavy current
Ans X A a
X B.b
X Cc
« D.d

Question ID : 1703222343
Status : Answered
Chosen Option : A




Q.54

In an electromechanical indicating instrument, force used to prevent the oscillation of

pointer quickly is
a) Deflecting force
b) Controlling force
¢) Damping force

d) Newton force

Ans X A a
X B.b
o« C.C
X D.d
Question ID : 1703222379
Status : Answered
Chosen Option: C
Q.55
afe arEE sgq W uforid ed glar @ o), ufaidd gidr e
a) YT AU Ul
b) BUNEHD dIHM 0D
¢) SIE g Tunid
d) I A9 ol
Ans X A a
" B.b
X C.c
X D.d

Question ID : 1703222371
Status : Answered
Chosen Option: B




Q.56

5 7 | A ST erTaT 7 &0 e S AT e ?

a) oy uluy lasdes
b) fafa ooy fases
¢) gAaH dd ukey fawsas
d) 9y Uiy fawses

Ans @ Aa
X B.b
X C.c
& D.d
Question ID : 1703222353
Status : Answered
Chosen Option : A
Q.57
What is the SI unit for magnetic flux density?
a) Webers
b) Tesla
¢) Gauss
d) Volt
Ans X A a
" B.b
X Cc
& D.d

Question ID : 1703222381
Status : Answered
Chosen Option: B




Q.58

In automatic star delta starter, the motor starts in star bur do not change over to delta, The
reason for this anomaly is due malfunction of

a) Over load relay.

b) Push Button actuator
¢) Main contactor

d) Timer

Ans X A a
X B.b
X C.c
« D.d
Question ID : 1703222358
Status : Answered
Chosen Option: D
Q.59
Potential reference of earth for earthing is always considered to be
a) Infinite V
b) OV
c) 230V
d) 110V
Ans X A a
« B.b
K Cc
X D.d

Question ID : 1703222376
Status : Answered
Chosen Option: B




Q.60

Megger is used to measure

a) Earth resistance

b) Insulation resistance

¢) Breakdown voltage of insulation
d) Tan Delta

Ans X A a
& B.b
X C.c
& D.d

Question ID : 1703222366
Status : Answered
Chosen Option: B




